DC4: FFT - Part 1: Complex roots practice

Question 1 + SUBMITTED

Consider the n-th roots of unity for n=16.

What is wqg in polar coordinates?
(1, m/16)
(1, 180)
O o, s

(16, 2m)

b5 Explain

Question 2 v SUBMITTED

Consider wyg. For what power k is (wqe)* = -17?

© Explanation

Recall that: -1 = (1,m) and if z=(r,8) then zk=(rk k8).
Now try for z = w16.

Answer: k=8

Question 3 + SUBMITTED

Consider wqg. For what power k is (w1)* = -w14?

D | Explain

Question 4 + SUBMITTED

Consider wq4. For what power k is (w14) ™ = wW14%? In other words, for what k is

mléx{mm}k =17

5 Explain

Question 5 ~ SUBMITTED

For what power k is (w1g)* = (wg)??



